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_(xe=x1.¥2-W1) _ L (xe=x1.¥2-w1)
Eivon AB o (-1-3,4-2)=(—4,2) o TA o (3+w1,2-0)=(n+3,2) , omote
-4 2
(ABI) = 403—‘det ABFA)‘ 4o:>—|‘ ‘| 40=|-8-2(n+3)=80=
2u+14=80=2u=66=p=33
=[-8-2u-6/=80=|2n-14/=80=[2n+14|=80=: 4
2u+14=-80=2u=-94=pu=-47

Eivat AB=(4-2,6-2)=(2,4) xa

AT =(A-1-2,A+3-2)=(r-3,A+1) onbte
(ABI) = 5:>—‘detABAl“)‘ 5:>—|‘ 4JJ|=5:>
A-3 M

=[2(A+1)—4(1-3)|=10=|2A+2-41+12|=10=

14-20=10  [A=2
=[4-2)=10= M =1 1
14-20=-10 |A=12
Eivow AB = (A+3-1,7-3)=(A+2,4) xau

AT =(1-1,6-3)=(A-1,3) omdte

(ABF):Q:%‘det(E,E)‘ =12:>%|

=[3(r+2)-4(A—1)|=24 =3 +6-4r+4{=24=

10-1=24 r=14
=[10-A=24= f =< 1

10-A=-24 r=34
Eivor AB= (—7» (A+2),4- 27\.) (—2r—2,4-2)) xo

AT =(-5—(r+2),A-1-21)=(-7-1,—A—1) ombte
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=12 =
—7-% —\-1
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:>|2x+2+2x2+2x—(—28—4x+14x+2x2)|=24:>

:>‘2x+2+%+2x+28+4x—14x—%‘=24:>
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